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X

NOTE:
e Ifa candidate answers a questlon TWICE, only mark the FIRST attempt
¢ Consistent Accuracy applies in all aspects of the marking memorandum.
LET WEL:
o Indien 'n kandidaat 'n vraag TWEE keer beantwoord, merk slegs die EERSTE poging.
o Volgehoue akkuraatheid is op ALLE aspekte van die nasienriglyne van toepassing.
QUESTION/VRAAG 1
1-1-11 x?—4x+3=0 Ve i - '
s et sl (=3 x=1) =0 v v factors/correct subt in
7 x=3orx=1 <l fpum Eny 3 A@:‘:wf: ‘/form;la
e v ‘ doT fegs i (3 x =
¢ P i '_‘r/’.!" y‘d ‘/le
' 3)
112 | 5% —5x+1=0
-b* Vb’ ~4ac
X =
2a
_5+,25-4(5)) . v'substitution into the correct
, R - 2(5) ) | formula
o _5+45 g
T 10 I
x=0,72 or x=0,28 = w5 “M P vx=0,72
? e vx=0,28
~ 3)
L3 | x? =3x=10>0 )
| (x=5)x+2)>0 - Lot e v'factors/ critical values
OR/OF
MEpAR '@:‘EW'E’»T-‘”;{Z F=HS
E__Dn.o .u ¥ iDN
iapacd wevdt \. 2 / <0 o—>p PRIVATE BAG X395, PRETORIA 0001
5 n .. 5 * +———
. Ly BIWE 5 g
Crefei wnd | \ o APPROVED MARKING GUIDELINE
: ' 5, [ UDLIC EXAMINA JON
x<-2 or x>95 b ":“A y VvVix<-2 or x>5
){'% s o -
i | (@)
1.1.4 3‘\/;2_76—4 i :f’ AN _,‘ .
Or=x? —8x+16 - . ¥ squaring both sides
x*=17x+16=0"" Lid v x*-17x+16=0 i
: (x-16)(x-1)=0 +- ~ ' v’ factors
x=16 or x=1 v’ answer with ‘
; NA selection
! Ve |
. { \ 4) |
g )
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OR/OF OR/OF J
1
3x2=x-4
1
x—=3x2-4=0 " * o v standard form E
LA g % ar i 32
x? -—4J{x2 +1J=0 TA R v’ recognize x=(x2J
] 1 Eock v’ factors
1 1
x2=4 or x2=-1 C |
o \ “ V’ . “
P x=16 NA - L Yy answer with selection
| Ayl ranch @)
‘ | 2y +9x% =—1....(1)
' Bx—y=2 i (2) :
| s s (3) v I‘/y=3x—2
; ' 2(3x=2)+9x* =—1 v~ 7 L ). 78 v'substitution
; ' 6x—4+9x* =1 P ) !
AT |9 +6x=3=0 | » . A ;
| 3 42r_1=0 b | v standard form
Gx~1){x+1)=0 ¥ o
1 ol
r=— or x=—1 v
Ry o v v'both x values
y=-1 or y=-5
v'both y values
| (6)
[ OR/OF o ) OR/OF |
| 2y +9x% = ~1.....(1) EU E =iz, '
| - Sl Bl
I 3x—y=2 .. (2) 5 % S|
'; J2|R = BiS
2 Lelb A b
‘ =22 58§ = off o ¥¥2
! } bhte = Sl 3
y+2Y asis o £|8
g e
<y +9[ 3 ) ==l E’:’i% S & ._‘1; v'substitution
2 -s: - Q &l
4y +4 T S &
2y+9[y_ﬂi_._]:-l I ER
9 E‘ [ <
| 2y+y +4y+4+1=0 i
: 2 +6y+5=0 - ' v" standard form ‘
Y+ +1)=0 fat) /factors |
; = — = — e -
Y Ior y=-5 ‘ vboth y values f
1 ¥
jx=g or x=~1 ! v'both x values |
| _ ©) |
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1.3

3 9x

>

64

"'tfo[[

= (4)3

3 =4,

le — 64

NSCINSS — Marking Guidelines/Nasienriglyne

r‘&..
\_

v 33.\'___4

v answer

OR/OF

v ‘\/g‘\l',;_‘_

\/33).'—3 or 33).7.3"3

)

\/gx/; - (50.5)\/7
B 334\3—3 V/ 33.\'—-3 or 333{’.3—3
- 0.
(%)
4373
= v 33x =4
Jer
1 v 57 _g
T
__27_1 v
= 3 = 54 answer
4)
[23]
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QUESTION/VRAAG 2 o
2.1.1 |42 7 ¢ v answer f
: 1y
212 [2a0=06 3a+b=1 a+b+tc=2 |va=3 '
la=3 - 3@)+h=1 . R)+(B)+c=2|vb=-3 |
: =8 c=T7v | ve=T
T,=3n" ~8n+7 4 ‘/3";1=an2+bn+c “
’ G 7 ) & W (4)
OR/OF OR/OF
2a=06 e oy bx c
T, =3n? s bt £ afler ol e
L =3n"+bn+c e Ta ran il L |
T :34b+c=2 Bl s} |
75:12+2b+c=3 2b+c=-9 ... 2) 1
Lh-T:b=-8 v h=_8 |
Subst.in(1): -8+c=-1 |
c=17 vie=7
T =3n" —8n+7 YT, =an* +bn+c (4)
213 | 1, =3(20) -8(20)+7 o'y o avediatte ¥ substitution
=1047 v answer @) |
22 | T =-Tn+42 Tot 359 (nei )(=F) VT ==Tn+42 j
o | —=Tn+42=-140 - A I PR JO V)
Rk | —7n=-182 o o H itk ad
n=26 \,,'_i"' e gv5 ; p v'n=26
_ i 'e ek b Jral -;' b (3) ]
2.3
S,,=g(a+!) OR/OF &, =~g[2a+(n—l)d]
n
S, =2 (35-7n+42) 8, =2(10-7n+7) V'S, =5 (35-Tn+42) or
R o R - SR Ly n
S, =§(—7n+77) - S, =5 (70-7n+7)
¢ [ o
) S”=—an +EH N - ——
i % 2 LA o zh* Q0 Iz u?j’j v'simplification of S,
i -—znz +7—2’71153n2 -8n+7 *é?‘ g ;:: é: v'equating
. T 1
132 ~93n+14=0 - is8ly = 3|3 v'standard form
(n=7Y13n-2)=0 Ik s, 2(5 v'factors
2 iZog T OB
| n=7 or n==— sy o =i
13 jmtlie &= ¢ ;
; NA if_;,"«'l o = :"»%Fm"i v’ answer with
| L9E 3 lecti 6
| sre .{5;? Ef ;%;),j selection (6)
| = {s Ef R [16]
! ’ . n}»": e A ,i 4
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QUESTION/VRAAG 3
3.8 | 1
I r== and S, =6 . G ] '
2 g £ o2
5=t ﬁ w3 |
| I— |
f 6= “1 = i v'substitution
I
! 2 - !
L a=3 e £ v answer
(2
3.2 ]:r = g™
7 - ! i
V7= — & o B N - ?
3 2
{ T T SRR
@)
3.3 " -k
>3(2) =58125
k=1
3+E +§+...:5,8125
2 4
S = ald=r7) _ 5,8125
1=r
" A 1
viop=—
-], e
— 5,8125 v substitution
- 1
2
| 1 ]
P 61— = |=5,8125
| 2
; 1 n ] - 51' \P
' —| =—=0,03125 v~ v'simplificati
(2] 2 simplification
2" =27 o rzlogl = logi
. 2 32
n=>5: n=>5 v answer
“4)
¥ = 2 . AW OF LA | |
X 12 = r T U ATION A
P E#EWATE BAG X855, PRETORIA000T © |
| f- 04 |
| EPROVED MARKEIG GUDELIE | |
5 T ERARGRATO
7N L |
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34 &
Z 32)" =p
k=1
3 3 9 s
3+;+—+ ........ +327=p v'expansion
{E 20 -
> 24(2)™* fLoen
k=l 7 )
' T AEE R 8 e v expansion
=4(3+-;—+§+ ..... +3 Z‘DJ w
{ / :
Y 74
=4p v - ¥ v’ answer (3)
| OR/OF OR/OF
| 20
| Y32 =p ¥ 62y
k=1 ; ( ) =p
> 6(2)™ = re N
k=1 ) P S L% £ . {2 & 20 —k
| o < > 4% 6(2)
231 2402)F = 4p | k=
;Z:‘ vap
(3)
OR/OF OR/OF
20 4 i 72 —k
324(2)7F = 3 4x3%2(2) 24x3x2(2)
k=1 k=1 k=l
20 » a2 »
=43 3x2(2) 4%.3x2(2)
k=1 k=1
20 -
=433%x(2) " =4p vip
! 3)
OR/OF
v’ substitution and answer
v'substitution and answer
|
[ o 4p
3)
[11]
NeYE P 2 A
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QUESTION/VRAAG 4
NO
4.1 | Yes v 2hees Lopest her tT ¥ answer
i For every x-value there is only one corres ondmg y value ¥'reason
P
OR/OF e v
; One to one mapping (vertical line test) 2)
42 R(-12 ; — ) ¥ answer (1)
143 | f(x)=ax® substitute (—6;—12) P
NG ~—6)2 substitution !
i =;31_ - vanswer
i 2
4.4 N, !
S Ep |
i ; 8 s wl | |
. flix= _[%]}ﬂ 7 b+ Ay :f g 5 24 v'changing x and y
| 19 R
| w1 2lE = Zld
| y=+/-3x éE;i 5 # ;ﬁi;
H e 8 i _
| Only y=—v-3x and x<0 %gé e = Ui Vy=—-3x
' e e R O8 G
s gl 8]
, Z o a
0O 8 ouesTION/IRA4G5 o =
% 5.1 Domain: xe R ; x#1 ¥ x¥ U o | v'answer T
OR/OF o | (D) ,
x € (—o0;1)U(l;0) ‘ |
52 1z =1_;;f ) sy | Yx=
| vy=0 @) 2.
' i
| y interéépt" =
v'vertical asymptote
3 Y shape;'« A 3
| s G)
5.4 x20 ; x=1 Y. 0
= Vi | (2)
I OR/OF OR/OF
0<x<1 orx>1 vi<x<l ‘2'
i OR/OF o > v ox>1
| x€[0;1)u(1;00) & I |
i il (81

Copyright reserved/Kopiereg voorbehou
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’L/ QUESTION/VRAAG 6 VTR
6v1 y —n?—zc :@I. N {é—il: g/\f
! \/ .| Y'substitution into
m=1 ‘/ y=1= m ({5 -0) > gradient formula
i _1 ’ ; 5 o v v'y-intercept (0 ; 1)
| g(x) = x—l-l < ) 2
| OR/OF boged O 7 | OBE
 y=mx+c N . CC’ < B ;},Lm) _
| 5 = md) +1 (e AN v'substitute (4 ; 5)
; ve=1
m=
gx)=x+1 : @
162 | 2 -0p-3=0 WU Al ATty -(-2) £ J e el T
e, | GHDE=H=0WS TR D ST | =0 TR0 X
o A o v factors -
(<150} (350) | \ r : vx-
Cen Ll 1ACL0) BE;0) 7w ! ' didied a5 Ro g TXVENES -
'6.3 i - - ==
. | x= 12+3 or x=2b=% or f (x) 2x—-2= 0
, a e
R BN S S Yor e
o ?} i i ~.~' o "‘0
f(x):xz—Zx-3 . et o - - 3
| =0 -20-3V" o y=(? -2x+(-D?)=3-1 | ¥ substitution/
- ] | i y= _4/ = (=12 — 4 completing the square
y2z-4V or [-4 3“’?) P ) ) v’ answer |
_ ©)]
6.4.1 MN: y= (x2 —2x—3) —-(x+ 1) . ) R his
B =x?~3x- 4V~ T b T [Vt =3x—4
1,1iﬁh 6=x*-3x-4V" - v'substituting y = 6
L op e PT b e 0=x2 3510 ro madk T oL el i -8 |
vy 0=(x—50x+2) oo pei’e @ WT2 e <O ‘
ot 4 Z’i&_ zrozux =_2 oT £ 1, ¥ v'values of x
4s>r1e2x~3‘f{, be Shizven b I 7‘*‘ 2t ek agoe! v, @
ws . OT =2,0rOT =5 6w & B v OT=2
) A NA nts B ot ()
1 6.42 | y=x+1substitutex=-2 - <4 & ~ol v substituting x = —2
g =(2)+1¥" T T
E =] w of & Z 7. k/"/ | 2
; N(2;-1) - =% 2. ! Yanswer )
g rre . . 7Y
PP e } i CEGASET b7
::!I.,.—‘J :3;_ 2 5' \ ya QN g ‘E” ( =5 ) /r )
) !\1{ ”,} X 4. . ‘ Fhlv‘;.ﬂ'l.‘. BAG xads PRETORIA 0001 l' 6h¥:} {:n v | P &FO
o) 1\ APPROVED MARCUCSUDELEE | - A
L& ") £

LS"ULF "C

Copyright reserved/Kopiereg voorbehou
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6.5 f'(x):2x——2\2{ ) PR
2x=2=1" 2 = s : e A | a3
3 : ¥ix-2:r0 ., 3
.?C:E V % ‘ = ,.“! ! ;5; \/x_:_z__
. o alet
3Y -15 - 31_-15
| o e / —_— =
)5V )= 5
15 ( 3 15 1
y+—=1lx-= or ——=—+¢
4 2 4 2
Gy
y=x- —-2‘—} v'answer
5)
OR/OF OR/OF
x*-2x-3=x +p VW v'equating
x —2x=-3-x-p=0
1 This equation will have equal roots, tlierefore:) v equal roots
b? —4ac=0 Lol B A =0 v
P 41)(-3-p)=0 v substitution
' 9+12+4p=0 v'simplification
P =21
[ T
21 o 5 d
=x—-— S v answer 5) |
T ) - ®) |
- % v
6.6 b < il \/&} answer il '
[20] | e
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QUESTION/VRAAG 7
7.1.1 i - AL - it . o
o FORNUN 0,088
; 4 '7 : 18 L dane v =2 and =16
s s OOOKHO,O%J —1] . A oo nd 7
’ | F= 4 B ; v substitution into
| 0.088 correct formula
. 4 ¥
| F =R283972.28 « 5.0 v answer J S
5 sl POl
712 Wi 0.088 Y. v future value — amount”
i A o R283 972,28 - 1 OO 000[1 + : ] inc]uding interest i 81 \
! 4
| =R 174 877,60 ps #3228~ f100000[1+0’088J
i L] [ L - .?‘ l
i ; T | Yanswer
3
OR/OF OR/OF
Amount at end of 3 years:
12
15 OOO[{I + 0’388] - 1:|
F = —-100000 v R15 000 including interest !
0.088 —R100 000
4 AEAT B
=R103 459,12  EOUTATION i
PIMIVATE BAG X825, PRETORIA 0001
Amount at end of 4 years: 018 -11- 04
g N 3 o F 95 - f‘\:;:h
P +i)" + M y Ko
I o A
0,088)* 4
15000 (1 4 ] -1 v 0,088 )
I+ onPandxinF,
- 0,088
=103459,12| 1+ +
4 0,088 v'method
4
=R 174 877,60
— (3)
7.2.1 szl—(1'+i) . | i
l , v |
—12x20 i
i x|:1—(1+0’1;5J ] /1':%
12
1500 000 = 0’105 ‘/f’Z:240 ) ) B i
12 v" substitution into '
correct formula |
x =R14 975,70
| v answer ;
I A ) L 4|
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G Z }

722] -+ O |
Fe z. v'R14 975,70 in P,~formula !
‘ s ~ vYv'n=96 !
1 0,105y : .
| 14 975,70|1—| 1+ \ B § |
12 ik 2fE v’ substitution into '
= 0105 i co;fect formula :
12 . |
P =R969 927,74 BEsyver » :
OR/OF OR/OF }
i Balance outstanding = A —F '
- 144 !
' 14 675,70/ | 1+ 0,105 -1 |
? 0,105} 2 |

=1 500 000[1 + 2 j - 0103 : v' n =144 in A-formula

ﬁ— | v n=144 in F,-formula

v R14975,70 in ©.
v A-F
=R5259 229,61- R4 289 302,47
=R069 927,14 v
answer
)
i} ] [15]

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG 8
8.1 —f(x -
f‘(JC) o liln f(x i h) f(lf")”—\
=0 h i o -
i —— T W 2 2
X kR =55t +5 S AN VX +2xh+h =5
= %13;1 : 2 ' v'simplification
- \ o '(V;‘ ho-
= }iuéﬁ(z;ﬂ - o ¥ ¥ factorisation
=lim Qx+h) 7 b Y lim (2x+ 1)
N =
oy o ¢ P
\ e i ®
| - . OF
i OR/OF { 3 tad {u
| fa+h)=(x+h) =5 e o 6 f
= %% 4 9ska 2 =5 8 - ) C A Y X 2xh+ R -5
\ '
Mose . ag e s 2
fx+m)-fx)=x*+2xh+h* -5—(x* —5) ;
=2xh + h? v'simplification ‘
) i LGRS )
h—0 h
_ lim 2xh+ h’
Tis0 p v factorisation
i FCEEB)
h—0 h v 1 )
= lim(2x + ) G A)
| =2x v 2x
; _ (5).
82.1 | y=3x"+6x"+x-4 b
. | — v 9x’
o . P (W (lzx
Z—y=9x2+12x+1 V1
b
3
822 | y(x=-1)=2x(x-1) v y(x-1)
: _ 7 -
.. i) T ) a1
.
y=2x - vy=2x
dy 5
ade v answer
e (4)
[12]

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG 9 (x4 5) o=
1 — 7 TPRGRE PR TR TR T—" ‘
P g0 =G +S)a-m)? woc privE OB Mo |y |
| 2 A = S
] 20 = S(JCI) i -* ~ 5 I
| x7=4 ol G ) |
E x =27 v'repeated root
g =(x+5)(x-2) Vxi =2 |
g2(x)=(x+5)(x* —4x+4)
| g(x)=x" +x* -16x+20 YRR = (oSl ~ars ) :
e OF
1912 | g(x)=x +° —16x+20 o
| g/(x)=3x* +2x-16 Y derivative
2 - _ - ;
| | 3x"+2x-16=0 " "7 v'equating to zero !
G 8(x-2)=0 | v'factors
{ Jc=:§ or x=2
o (=8 1372 '
1 R(T,”i:f,—“] or R(-2,67;50,81) v'co-ordinates of R
P(2:0) v co-ordinates of P
‘ ; - (5)
9.13 | g”(x)=6x+2 v v og"(x)=6x+2
S | gn(o):z o . ) i /g“(o)zz
J.concave up v = / vconclusion (3)
OR/OF OR/OF
g”(x)m6x+2 ‘/g”(x)=6x+2
6x+2=0 s 1
% === is the point of inflection 3
2
- o _ _ v'conclusion
. concave Llp S 5 2 '3 (3)

Copyright reserved/Kopiereg voorbehou




Mathematics P1/Wiskunde V1

15 DBE/November 2018
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9.2
v y — intercept of a cubic
graph
]
f — | ¥ point of inflection and
f ; stationary point, x = 3
E \. o h zﬂ.v’- ; i ‘-’{_
, on v concave up for x <3and
| bty Wi~ | concave down for x > 3
| “1
| L,
]}
‘ 0 3 \ 2o
| |
|
l i
L - ©
| [15]
\ ‘; : -
e ¥ .
! s, R
R | AR _\ {9 ‘ B s C\, ~ A : 5 b

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG 10

DBE/November 2018

B F
o1 [AR_3 . |
' HG 2 () |
10.2 | Area of a parallelogram =base x | height | |
| 3 2 [ !
Area =—(5—-1).—t tY =t
5005t b3 |
T 3 i
v 4 ‘/—(S—f) i
Area=—5(5—z)r 2
6 , 6 e o ' 6 , 6
Alt)=——1*+=1" -~ P VAlt)=——1* +—=1
i -ggi *3 ~ g 3 0)=-55+3
A"(r)w—lzmE 5 ;
26 35
126 vl2, 6
o5l TS 25 5
12¢-30=0
30 5§
= — Dr—
122 v answer
) (5)
[6]
W mbafie
! ® 595, PRETORIA 0001 ~
oo 2w - gy
.i‘.-- ¥ \f‘f 2 & L

Copyright reserved/Kopiereg voorbehou
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QUESTION/VRAAG 11
11.1.1 | 75 =16 807 T v'v answer )
1.1.2 A, A VEeTI |
i VTx6x5%4x3 or -
== 2520 2!
21 v answer )
112 | 2x7x1=14 bxPslod PEFE T R vvv 2x7x1 ()
. Z4 & - ]
5 [71
ra sy = #fatl 3 «"\E':.\ L : ¢ el j\, ‘/ L’é '(:'{"‘l ! (‘I = &
QUESTION/VRAAG 12 i ug) = e ¢ T ' d
121 |[P(AorB)=P(A)+P(B) - * - v P(A or B) = P(A) + P(B)
0,74=045+y -~ iy =3 v'substitution
v=029 - 3 v answer (3)
12.2
3x
- G
¥ < g
4_
Let the number of mystery gift bags = x
The total number of bags = 4x - v 4x
x x-1 7 -
—_— X PPN L X }.
(4;\-) [4x—1j 118 ‘/{4_)5] o [;{J
Lox=l o/ e [ 21
4 4x—1 118 4x—1
ro1_28 RS
; 4x—1 118 4 4x-1 ,
118x-118=112x~28 / eauating to —
| x=15. T
; vanswer (6)
‘; o . o= & N } : TR .'- o Fﬂg;q.b} P
R FitiVATE BAG X695, PRETORIA 0001
oy ; 3 253 -1t 04
f 'l
!
o
i“\
| A -
Copyright reserved/Kopiereg voorbehou /’:_J\‘!\’ ;:i/ -




Mathematics P1/Wiskunde V1

18
NSC/NSS — Marking Guidelines/Nasienriglyne

DBE/November 2018

| OR/OF OR/OF
' P(gift and glft) P(gift at first draw) x P(gift at second draw)
1 1
=—><P ft at second draw v —
4 118 (et ) 4
| V'Zlix P(gift at 2" draw)
|
|P ift at second draw)= — + — l__l ». nd
! (el nd draw) T 118_4><P(,,1ﬁat 2" draw)
| 214 14
59 59
;i 15 15
Therefore: P(gift at first draw) = — v =
60 60
And: 15 bags had mystery gifts inside | v answer )
91
TOTAL/TOTAAL: 150
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